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Walking is like standing - AT TR TR

Overview

The X711 cites the view of *X1¥ 12 (to explain the ¥n>72 of ©°2 21137), who maintains
that 79mn is "7 722, so every step is a new 7m and 7Py, Our MddIN reconciles
this view with the ruling of carrying 7"772 mnX '7T where there is a Xn*7%72 2177,

mooIn responds to the anticipated difficulty:
= (38 97 maw) PN 1IPNINRTI NY 99919 NNIYN D390 NIV 39NT NN YAIN 923919

And regarding the ruling that for carrying nwax ' in a 2"79, one is 2»n,! that is

derived as a °1°0n wnb 79957 as the X713 states in P37 P09 -
= 3NN NN DIPN ONNT 21391 139999 XY

And we do not derive from the n"%%7 of X"7 that >n7 722 WY 777, for there, in a

7"7n, it is a place of 277 (liability for naw Mo°X), therefore we are strict -
- 59109 DYPM NIAY “POD T NOVISY MINN 7973 9999 INIY 13 YN

However ¥'"2, when he ruled »7 72 797, he was discussing a case where one
went from a store (°"77) to a plaza (1"77) by way of a v®, which (the 1vd) is a
TWE 2PN, therefore in a 7IWD DIP» we can maintain A7 7AW 7200 —

mooin offers a differing opinion:
$N9YPA WM 29MHIT DN MV NN 7T 9a¥10 NNIWN 5350 INTY 127 7999 59I5WI193)

And in the "»%2177 717N he asks, according to ¥''2 (that *n7 722 7271) how is it
possible that one should be 217 for carrying 27172 8"7; and he answers,’ ‘by

! According to ¥"2a that *n7 Tmw3 727, how can he be 2>, since it is considered that he stops at every step, so he never
carried X"7, but rather he was carrying X"7» nns nno, where there is no 21 at all.

2 Seemingly once we have the 7377 that "7 7mWw3 182 7277 (by 7"772 X"7) this should apply in all cases; why does ¥"a
maintain n7 723 7271? Therefore mooin distinguishes between the cases.

3 The 7"1 is a place where one can be n"mn XX MOR 12w either by carrying from the 7" to a "7 or from the *"77
into the 1"717, or carrying 1"772 R"7. Therefore the fact that the n"9%7 tells us there is no 722 7271 in a 1"77 is not a
source that this rule applies in other places which are not a 211 o1pn. See ‘Thinking it over’ # 1.

4 A vuD is a place where there are benches or platforms for merchants to place their wares. 0" it is a Mo 2P and
112777 it is considered a N°7113. One who carries from a >"777 to a 7"777 and stops off in between in a n°9173, is not 2>n
77077 11, since he did not make an 1"7192 373 °"'712 77°pY, rather he was XX from a °"717 to a n°on73, and then from
a Mo to a 1", so there is no N 21n. It is in this case where ¥"2 maintains that even if he did not stop at all in
the (n°9173) 1o, nevertheless he is MW since (in a N°9»12) we do say "n7 WD T7an (not like in a 1"7) so it is
considered as if he made a n°7»732 ama.

5 See ‘Thinking it over® # 2.

6 X" R"2 (in our 7YY on 1,3 77).

7 See 01y 119° to 2,7 Naw that this answer y9P2 is not found in our 5w,
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Summary
One is 2> for 7"772 X"7 according to "2 either because of 712 >3 Xn2%n (and 727

7Y is only in a N°91n75/7105 DIPR), or (*nHWIT°) only in a case of jumping..

Thinking it over

moon distinguishes between a 21°1 0P (a 7"717) where we do not say 27 TV 7277,
and a Mo opn (or N°9n10) where ¥"a rules that "7 72Ww2 T7mn.° Why therefore is
there a need to say that >3 mx Xn327 7"772 X"7 when we have a clear distinction
between a 21°1 21Pn and a WO Pn?! 1O

2. It appears from '01n that ¥"2 only maintains 7 72Ww> 7271 in a o opn.!!
However our X713 is not discussing a 71vd 0pn (but rather a »"717) and nevertheless
we apply here the ruling of ¥"2?!!2

8 There is obviously no 7213 727 when he jumped the entire X"7 in one leap.
? See footnote # 3.

10'See X"2w" and o°ax anb.

1 See footnote # 5.

12 See X"wAmn.
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